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( ENGLISH VERSION )

1. Answer the following questions | Alternat'ives are to be noted ) © 2 x10 =20

(@) What kind of power is required to transform desire for a commodity
into demand ?

OR

Mention any two factors which influence the individual demand for a
commodity.

(b) State the law of demand, .

‘ OR
What are the two components of the Price Effect ?

{c) For what kind of goods, the demand is elastic ?

OR

What is meant by perfectly inelastic demand ?

d)

Define income elasticity of demand.

OR

What will be the shape of the demand curve if price elasticity of
demand is infinity ? ‘

(© -

Give two examples of a firm's variable cost of production.

OR

What is meant by fixed cost of a firm ?
(§ , Define average revenue of a firm.
OR
What is meant by a firm's mérginal revenue ?
What is disguised unemployment ?
OR

What is head-count ratio for measurement of poverty ?
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Answer the following questions ( Alternatives arc to be noted ) :

(@)

(b)

()

(d)

(e
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What is the main difference between WTO and GATT ?
OR

State two major functions of WTO.

demerits of import liberalization in India.
OR

State any two recommendations of Malhotra Committee in 1993.

Mention two

State two benefits of trade liberalization in India.
OR
Mention two demerits of globalization in India.
5x8=40
Mention a few factors which influence the price elasticity of demand.
' OR
Show how commodities may be classified on the basis of income
elasticity of demand.
Briefly discuss the relationship | between average and marginal
product.
OR
Explain the law of variable proportions in product‘ion.'
What are the types of internal economies which arise as a result of
large scale production ?
Mention the characteristics of a perfectly competitive market.
, OR
Explain how short run equilibrium of a firm is reached in a perfectly
competitive market. .
Show how the short run supply curve of a perfectly competitive firm
can be derived from its marginal cost curve. |
OR
Show with the help of a diagram how the price in a perfectly
compelitive market is affected when the aggregate demand increases,

aggregate supply remaining the same.
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Disc i i i i
(0 USs In brief any one method of measuring national income.
Briefly di oR
rie i i 1
1elly discuss the major difficulties in measuring national income.
(8

OR
Discuss briefly the functions of a central bank.

(h)

D. . . y s . .
iscuss in brief the major poverty eradication programmes in India.

OR
Mention the features of different types of unemployment in India.
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( HINDI VERSION )

3 x10=20

Fet g ¥ o @ T 3 Ty 3 v v 1 v N E 7
areran

Mmmmmﬁmmwwﬁ@(facwmﬂ
IoE FL |
mmﬁmml

e
Teq Y9G & 1 @99 (components) awr??
fer SR Y g3t & ford G orelien (elastic) & 2

HYar

~t10‘r_éahm.tﬁfrﬁmm.%?

o @ G A B ORET S
B
uﬁnﬁﬁﬁqﬁmaﬁa%a’mﬁaﬁmmwm?
M@wquﬁaﬁmgﬁaﬁmi‘l .
| g
%ﬂ"tmﬁwﬁmaﬁmﬁwaﬁm,t?

8 of 11




#(12)5043-(11)e-(NS

(

(8

()

@

)

wﬁﬁmm(x‘evenue) F} qfesmer 21

Haar

WA (disguised) R 7o & 5

Hgar

RIS 1 A %ﬂ ¥irs-Trory (Head-count) 4rd 4T T2

WTO T GATT H J&F iy s d 7

Srear

Mo%ﬁgmam‘ml

mﬁmaﬁmﬁ:‘rzﬁ%ﬁ#.
st

1993ﬁnﬂﬁmaﬁ:&1mz’1n§w:’rf§wﬁvﬁﬁwu
mﬁmmﬁmﬁﬁm%él

gar.

mﬁqﬂzaﬁméﬁmﬂmi

NS-ECON

9 of 11



2. frefefaa

(a)

(b)

(c)

(d)

(e)

#(12)5043-(11)0-(NS)
wﬁa;wafm(wqﬁwwﬁi): 5 x8 =40

et e Y TR Y A T T2 3 g
arerar
qhqﬁmmg;mwaﬁaﬁwwﬁaﬂwﬁmmm%?

memmﬁama&méwﬁ.
m .
s e s o7 o 9
agaqﬁﬁmaqmﬁmmgqaﬂaﬁmm(economes)%m
FE 2 |
ot vt SR 3 ST (ch;racteristics)msﬁ%@ﬁ|
..m
wmwﬁhmwwmmﬁw‘mﬁm
¥ 2 = | |
mﬁ@mﬁwm‘ﬁWwWﬁmwﬁm
%mmm%.l |
erat
fem @t Weraar ¥ famu fF @ ofga @ St € 99 i wfaEd qom o
e 3w e & v st i SR T B

NS-ECON 10 of 11




#(12)5043-(11)e-(NS)
() T 3 % o @) e v fafs e o aoi B

Jqgar

T 3 & wo o e arghnnedt @t datg =t A
(8 ﬁﬁﬁﬂ%mﬁaﬁmﬁhmmmmwﬂmtl
Hqaar
&= &% & FE B we F ot Hf

(h) . W‘*“‘I@Wﬁﬁmmﬁwﬁmﬁwﬁﬁl

NS-ECON 11 of 11



